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NEW QUESTION 1
Which one of the following code examples uses valid Java syntax?

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 2
Given the code fragment:

What is the result?

A. Compilation fails.
B. Hi removed
C. An UnsupportedOperationException is thrown at runtime.
D. The program compiles, but it prints nothing.

Answer: A

NEW QUESTION 3
Given the code fragment:
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What is the result?

A. Sum is 600
B. Compilation fails at line n1.
C. Compilation fails at line n2.
D. A ClassCastException is thrown at line n1.
E. A ClassCastException is thrown at line n2.

Answer: C

NEW QUESTION 4
Which two are benefits of polymorphism? (Choose two.)

A. Faster code at runtime
B. More efficient code at runtime
C. More dynamic code at runtime
D. More flexible and reusable code
E. Code that is protected from extension by other classes

Answer: BD

NEW QUESTION 5
Given:

What is the result?

A. Compilation fails.
B. false true
C. true false
D. true true
E. false false

Answer: C

Explanation: 

NEW QUESTION 6
Given the code fragment:
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What is the result?

A. A NullPointerException is thrown at runtim
B. [1, 2, 4]
C. [1, 2, 4, null]
D. [1, 3, 4, null]
E. [1, 3, 4]
F. Compilation fails.

Answer: B

NEW QUESTION 7
Given:

What is the result?

A. Welcome Visit Count:0Welcome Visit Count: 1
B. Compilation fails at line n2.
C. Compilation fails at line n1.
D. Welcome Visit Count:0Welcome Visit Count: 0

Answer: C

Explanation: 

NEW QUESTION 8
This grid shows the state of a 2D array:

The grid is created with this code:
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Which line of code, when inserted in place of //line n1, adds an X into the grid so that the grid contains three consecutive Xs?

A. grid[2][1] = ‘X’;
B. grid[3][2] = ‘X’;
C. grid[3][1] = ‘X’;
D. grid[2][3] = ‘X’;

Answer: D

NEW QUESTION 9
Given:

What is the result?

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A
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NEW QUESTION 10
Given:

And given the commands:

What is the result?

A. 1 null
B. true false
C. false false
D. true true
E. A ClassCastException is thrown at runtime.

Answer: D

NEW QUESTION 10
Given:

What is the result?

A. Compilation fails.
B. 11
C. 8
D. 9
E. 10

Answer: B

NEW QUESTION 13
Given the code fragment:

Which two modifications, when made independently, enable the code to print Joe:true: 100.0? (Choose two.)
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A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Answer: AC

NEW QUESTION 17
Given:

What is the result?

A. 200.0 : 100.0
B. 400.0 : 200.0
C. 400.0 : 100.0
D. Compilation fails.

Answer: C

NEW QUESTION 19
Given the code fragment:

Which three code fragments are valid at line n1?
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A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Answer: CDE

NEW QUESTION 23
Given:

What is the result?
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A. BaseDerivedA
B. BaseDerivedB
C. DerivedBDerivedB
D. DerivedBDerivedA
E. A ClassCastException is thrown at runtime.

Answer: D

NEW QUESTION 26
Given the code snippet from a compiled Java source file:

Which command-line arguments should you pass to the program to obtain the following output? Arg is 2

A. java MyFile 1 3 2 2
B. java MyFile 2 2 2
C. java MyFile 1 2 2 3 4
D. java MyFile 0 1 2 3

Answer: A

NEW QUESTION 27
Given:

What is the result?

A. Area is 6.0
B. Area is 3.0
C. Compilation fails at line n1
D. Compilation fails at line n2.

Answer: D

NEW QUESTION 28
Given:
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What is the result?

A. 10 20 30 40
B. 0 0 30 40
C. Compilation fails.
D. An exception is thrown at runtime.

Answer: C

NEW QUESTION 29
What is the name of the Java concept that uses access modifiers to protect variables and hide them within a class?

A. Encapsulation
B. Inheritance
C. Abstraction
D. Instantiation
E. Polymorphism

Answer: A

Explanation: 
Using the private modifier is the main way that an object encapsulates itself and hide data from the outside world.

NEW QUESTION 33
Given the code fragment:

What is the result?

A. 3
B. 4
C. -1
D. Compilation fails.

Answer: A

NEW QUESTION 37
Given the code fragment:
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What is the result?

A. Match 1
B. Match 2
C. No Match
D. A NullPointerException is thrown at runtime.

Answer: A

NEW QUESTION 42
Which statement is true about the switch statement?

A. It must contain the default section.
B. The break statement, at the end of each case block, is optional.
C. Its case label literals can be changed at runtime.
D. Its expression must evaluate to a collection of values.

Answer: B

NEW QUESTION 43
Which statement best describes encapsulation?

A. Encapsulation ensures that classes can be designed so that only certain fields and methods of an object are accessible from other objects.
B. Encapsulation ensures that classes can be designed so that their methods are inheritable.
C. Encapsulation ensures that classes can be designed with some fields and methods declared as abstract.
D. Encapsulation ensures that classes can be designed so that if a method has an argument MyType x, any subclass of MyType can be passed to that method.

Answer: A

NEW QUESTION 46
Which two statements are true? (Choose two.)

A. Error class is unextendable.
B. Error class is extendable.
C. Error is a RuntimeException.
D. Error is an Exception.
E. Error is a Throwable.

Answer: BC

NEW QUESTION 50
Given the code fragment:

Assume that the system date is June 20, 2014. What is the result?
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A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 53
Which statement will empty the contents of a StringBuilder variable named sb?

A. s
B. deleteAll ();
C. s
D. delete (0, s
E. size () );
F. s
G. delete (0, s
H. length () );
I. s
J. removeAll ();

Answer: C

NEW QUESTION 58
Given:

What is the result?
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A. 10:20
B. 0:20
C. Compilation fails at line n1
D. Compilation fails at line n2

Answer: D

NEW QUESTION 61
Which three statements are true about the structure of a Java class? (Choose three.)

A. A class cannot have the same name as its field.
B. A public class must have a main method.
C. A class can have final static methods.
D. A class can have overloaded private constructors.
E. Fields need to be initialized before use.
F. Methods and fields are optional components of a class.

Answer: BDE

NEW QUESTION 63
......
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